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Note: This questlon paper contains two parts A and B.
Part A is compulsory which carries 25 marks. Answer all questions in Part A. Part B
consrsts of 5 Umts Answer any one full questlon from each unit. Each questlon carrles

5 el I PART A

(25 Marks)
State the Eddy’s Theory. [2]
Define an arch. How an arch differs from a beam? 3]
Write.the Generaljzed form of slope, deflection equations:~ [2]:
'erte the-shear equatlons for the case of frame with. srde sway AR g [3]-
“e) Whatis-Movement distribiition and who-developed it?: ™" 21 * ="
f)  Differentiate between absolute stiffness and relative stiffness. 3]
g)  What is the basic aim of stiffness Method? [2]
h)  What is Flexibility Matrix? [3]
i)  Derive Stiffness Matrix for a simply supported beam of span ‘L’. 2]
) State the Muller Breslau s Prmcrple e, ‘ [31.
/PART B LI D A Y
(50 Marks)
2. Determine the horizontal thrust at the support of a parabolic two-hlnged arch with the

area of the cross section of the crown is 4.5x 102 and moment of inertia is 3.375 x 10™. 4
The rxse of the arch is 14 875 m and 1ts span is 85 m. Fmd out the max1mum moment

R [1@]
jDeterni'ine the vertlcal dlsplacement of jornt B, as shown”i‘n ﬁgure 1. The area of cross-i"
section of member is 550 mm” and E = 200 KN/mm?>. [10]
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7.

Using the slope-deflection method, find out the moments in the frame ash shown in
figure 2. [10]

30 kN

1=150 x 10° mm®. Using the Kani’s method, determine the end moments. [10]
70 kKN SOKN/m
lE CNWY\)(Y%
rh 1 4
Figure 4
OR
Analyse the rigid frame shown in figure 5 using the kani’s method. [10]
30 kN 60 kKN/m 75 kN

Vism

Flgure 5

: , ) ¢ _ example The beam 1s shown m
ﬁgure 45 1n this beam the support ‘B.sinks by 15 mm; E = 200" KN/mm?; ¢ and* ™




8.

10.
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Figure 6

Figure 7

[10]

In a multistoreyed building, the frame shown in figure 8. are spaced at 4 m intervals.

Dead load from the slab is 3 kN/m” and the live load is 5 kN/m?. Analyse the beam BC

for midspan positive beriding mondent,-Self welght -of the” beams may be ignored. Use -~

[10]2 .
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